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Question #36 / 50
Graph the line.
2x+3y =12
Quick Help
.

! How do | plot a point anywhere on the graph?

Clear Undo
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Question #37 / 50

1
Graph the line with slope 5 passing through the point
(-5,—3) .
Quick Help

ll' How do | plot a point anywhere on the graph?

Clear  Undo
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Question #38 / 50

Find the slope of the line graphed below.

el-5.6)
of4.-7)
[] —— Undefined
Ll
Clear Undo
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Question #40 / 50

Graph the inequality below on the number line.

a < 2
Quick Help
XX How do | enter my solution?

M-10-9-83.765-432001 2343567801011
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Question #41 / 50

Find both the x-intercept and the y~-intercept of the line
given by the equation

22+3y+7=0 .

wintercept = ] A
. _ ]
y-intercept = ||
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Question #42 / 50

Find the slope of the line 5 x=4 v+ 1.

|] ——— Undefined

L]
Clear Undo
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Question #43 / 50

Write an equation of the line below.

= n
Clear Undo
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Question #44 / 50

A line passes through the point (x, 1) = (—S,S) and
has a slope of 4 . Write an equation for this line.

: -0 ¢
Clear  Undo
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